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Reading: Only qualified students have the right to work in computer
centre. There are 3 reasons but they are inrelevant to the speaking
part.Listening: Man: | think it does not work. Reason: 1.they should
have a requirement on their grade. Or, how to decide which student
Is qualified enough? That means, university has to open a computer
repaircourse. (U 0 OO OO0OOOO,O00 02, even their
grade have passed the minimum requirement. That only means they
can handlr some normal situations. [ .BLABLABLAA4. Reading: [
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[ interaction.Listening: U O O: 00000000 O O old
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[1 .Question:explain the definition of xxx externality, how the
example in the listening passage prove the definition given by the
reading passage?s. Man’ sproblem: J OO0 O OO0 O0O,0O
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OmanU OO0 0O,0000000000 0O there are two
suggestions given by his friend.) what do you the man should do ?6.
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